EARAROBEEIERT — 2 N— IBISH —F

201412868 (£) 4E+L1H

m"fﬁ%Zﬁ KEEF 4t [IBF] B ‘ [Xiz] % ‘ [eErsm]  — | &4 (&) 12000 FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Elesp| 1. — . . AT (EiH)
ELSTF 4 2 o 1(1_1)6 2-2 37.9| 87.0 | 2 422)2 ncl-Sr e
A2 :Dubawi B v —/\ J=HrTr—L
- s o= o HD#(E : - HAKEEFI (3E7H)
=S JINS5L R 2 54:5 1.(162).6 10-9 37.3| 785 | 4 (4_526) rﬁfuﬁ*zﬁ
RHIRT4TTZ B A YA — =it e
HLANRY —% 9 X o2 Slﬁ)wﬂﬂi 1(:11/22.>7 8-8 37.8| 775 | 7 ;1+020) Eg%ﬁ%— ()
LY LTAN—F BihENY—FY YA FHE
+mes - RIUTE (3
FINT =7 2 ﬁ%ﬁ 1 1%:)7 1-1 39.1177.8 | 5 (ff& ;Jlagg (=)
L:gr—3IYF7> BiNT« EEte ]
o . s Nt 12, - . . BILER (k@
Fy K74 B2 ok (1717277) 5-5 38.5| 77.4 | 3 <4+548) SR
LI NATA—H— B:ZA—+T4X SUR S
— < — LEME . —, %5) 1| 1E X j
L o 4 2 E'Z?(a) B 1.(153).6 2-4 39.8| 70.5 | 1 (4f26) i{ﬁl%i (=)
L:Z=yYzl B:T77ry—FLY FREHS
717113 FwdoLIH i 2 EJS|1I?_’%%EA 1:(134).1 10-11 38.9| 65.5 | 16 (3312) Iﬁgﬂéé (=)
L:hOA4Z2d B:o-¥ovi TJ7=Z—klNT7—L
. B 2 | FRHER 1:14.3 13-13 | 38.6| 63.7 | 15 | 438 |HESMEAA (k)
8|5[10| ¥=AF ¥ 54.0 (1 172) g |sAmE
Y- BT—RT A — Ja—)—77—LA
. AN TN :15. - . . BILER (@
9 1 FLg—F—4 4 2 o 1 (145)0 10-11 39.8| 58.7 | 8 ?(1))2 wei-kd
LY LFAN—t B:FrI-ITFE =tivie]
S5 “ 3 # 2 | FEIR 1:15.1 13-14 | 39.5| 57.6 | 9 472 | DNEERE (E)
101714 INT A A v 7R 54.0 (1/2) “10) MR
L:ALNTyTFILE BT TIN)—7 FLE N
= = 2 | MEFHEK 1:15.2 13-14 | 39.5| 56.8 | 13 | 430 |E&WERI (i)
11)8[16| 7= 7NVFT77 ¥ 540" (172) Cay | B IwTr-n
R:Td—T4F4F—-XY%> BT VT H— INTF—L
S B 2 | EEET 1:15.3 8-10 40.5| 57.4 | 12 | 468 |FEEX (E#)
12 3| XX 5.0 (3/4) *+2) (75)55“’77—L\
:Oyav40y B:NF/IAYZYR AiE R
N “ FLEBAIT :15. — . . FIIAR (E#
a1l FFy rLaY it 2 AEAD 1(*;155;1 5-6 41.2| 57.4 | 10 (4_520) T’IK?\T‘W
L2917 v F—F7—K—K B:NyvE—-F4&v b EA R
14l 5] 9 | X=~WIN=7 %Y i 2 Flf%%it 1:(115).6 2-2 41.8| 56.6 | 6 | 492 ﬁ:%;’%_(%ﬁ)
QIREFa—ATUNTA BAHIIXT > (O PNy
N KEEFNER : — w2 FEA (EH)
15 7l by TITU- it 2 P 1(.31/54.)7 16-16 | 39.5| 52.7 | 14 <4+324> geeits
Vv AT yh— BibITL=X R/
. » s 2 | BEER 1:16.3 5-6 42.1| 51.8 | 1 452 | BEEE (FH)
1612 F=7 =% 54.0 3 1/2) (22) | TR
X7 T—R VXTI T7—F B:T7L2FIvD Al #&
@ 71 L
) 49.2-38.0
NA>Z24 L | 11.8-10.6-11.2-12.2-12.6-13.2
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 4(6,9,12)-(1,2,5)-(3,15)-(11,13,8)-(10,14,16) -7
43—5+— |4(9,12)6,5-(1,2)15,8,3(11,13)-10(14,16)-7
[ N3
BB 12 390H 714K 8-12 550M e E 4-6 1,470M JEHE 8-12-15 8,880
8 B 12 1609 12-15 1,390M B = 8-12 1,420 B 12-8-15 33,400
8 220M 8-15 2,330 B H 12-8 2,500/
15 610M

ABICOVWTRDTEEERROODE. TR LIV,




